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TrigonometryExercised4 for No.2
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Condl =| Sin(a) =7 |, Cond2 =| Cos(B) =" Condl =| Sin(a.) =— |, Cond2 =| Cos(B) ="
No3 = 2 6 ., Nod= 5 4
.1=Cos(a) .2=Sin(P) .1 =Cos(a) .2=Sin(P)
.3=Tan(pB) 4=Sin(f-a) 3 =Tan(P) .4 =Sin(a - )
S5=Cos(aa+fB) .6=Tan(a—B) S=Cos(p-a) .6=Tan(a+f)
L .7=Cos(2 o) .8=Tan(2 B) ] L .7=Sin(2 B) .8=Tan(2 o) i
M
No5 = [ Cond = (Cos(32°) = 0.848), Question = Sin(16°)], ,| U
T
M
No6 =[ Cond = (Cos(54°) = 0.588), Question = Cos(27°)], ,| U
T
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TrigonometryExercise4 Answers for No.2
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Ans5 = (Sin(16°) = (Sqrt(0.0760) = 0.276)), {

Ans6 = (Cos(27°) = (Sqrt(0.7940) = 0.891)),
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